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BECC-107 : STATISTICAL METHODS FOR 

ECONOMICS  

Time : 3 Hours  Maximum Marks : 100 

Note : Answer questions from all the Sections as 

per instructions.  

 Section—A  

Note : Answer any two questions from this 

Section. 2×20=40  

1. What is dispersion ? What are the various 

ways of measuring dispersion ? Explain the 

application of standard deviation in 

Chebyshev’s theorem. 
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2. (a) Describe the features of Poisson 

distribution. What is its expected value 

and variance ? 

(b) There are two bags. The first bag 

contains 7 white bottles and 3 red 

bottles. The second bag contains 4 white 

bottles and 6 red bottles. A bag is 

selected at random and a bottle is 

drawn. What is the probability that the 

first bag is selected and a red bottle is 

drawn from it ? Also find the probability 

of drawing a bottle from the first bag, 

given that it is red.  

3. What is meant by interval estimation ? 

Explain the two methods of interval 

estimation. What are the properties of a 

good estimator ? 
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4. What are the four methods of collecting vital 

statistics ? Describe their uses. 

Section—B 

Note : Answer any four questions from this 

Section. 4×12=48  

5. What is meant by non-probability sampling ? 

Describe the methods of drawing a non-

probability sample. 

6. Describe the testing of the hypothesis for the 

difference between two samples when  : 

(a) Population variance is known. 

(b) Population variance is not known. 

7. Describe a linear deterministic function. 

Explain the method of least squares for 

estimating regression coefficients. 



 [ 4 ] BECC–107 

B–1536/BECC–107 

8. What are the models widely used in time- 

series ? What do you understand by moving 

average method ? Describe the application of 

moving average method. 

9. Point out the important features of Binomial 

distribution. Define its mean and variance. 

10. (a) Differentiate between exhaustive events 

and exclusive events. All exclusive 

events are exhaustive. Comment and 

illustrate with example. 

(b) Suppose a dice is thrown. What is the 

probability of getting a number less 

than 5 or an odd number ? 

11. Explain stratified random sampling. What 

are the advantages and disadvantages of 

stratified sampling ? 
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Section—C 

12. Write short notes on any two of the following : 

2×6=12 

(a) Life tables 

(b) Cluster sampling 

(c) Sampling error 

(d) Confidence interval 
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ch- ,- (vkWulZ) vFkZ'kkò   

(ch- ,- bZ- lh- ,p-) 

l=kar ijh{kk  

twu] 2025 

ch-bZ-lh-lh&107 % vFkZ'kkò ds fy,  

lkaf[;dh; fof/k;k¡ 

le; % 3 ?k.Vs   vf/kdre vad % 100  

uksV % funsZ'kkuqlkj lHkh Hkkxksa ls iz'uksa ds mÙkj nhft,A 

 Hkkxµd  

uksV % bl Hkkx ls fdUgha nks iz'uksa ds mÙkj nhft,A 2×20=40 

1- ifj{ksi.k (QSyko) D;k gS \ ifj{ksi.k ekius ds fofHkUu 

rjhds D;k gSa \ 'ksch'kso ds izes; esa ekud fopyu ds 

vuqiz;ksx dh O;k[;k dhft,A 
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2- (v) IokWl;ka (Poisson) forj.k dh fo'ks"krkvksa  

dk o.kZu dhft,A bldk visf{kr ewY; vkSj fHkUurk 

D;k gS \ 

(c) nks cSx gSaA igys cSx esa 7 lQsn cksrysa vkSj 3 yky 

cksrysa gSaA nwljs cSx esa 4 lQsn cksrysa vkSj 6 yky 

cksrysa gSaA ;kn`fPNd :i esa ,d cSx pquk tkrk gS 

vkSj ,d cksry fudkyh tkrh gSA bldh D;k 

izkf;drk gS fd igyk cSx pquk x;k gS vkSj mlesa ls 

,d yky cksry fudkyh xbZ gS \ igys cSx ls ,d 

cksry fudkyus dh izkf;drk Hkh Kkr dhft, ;g 

ns[krs gq, fd og yky gSA 

3- varjky vkdyu ls vki D;k le>rs gSa \ varjky 

vkdyu dh nks fof/k;ksa dh O;k[;k dhft,A ,d vPNs 

vuqekud ds xq.k D;k gSa \ 
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4- egRoiw.kZ vk¡dM+s ,d= djus dh pkj fof/k;k¡ D;k gSa \ 

muds mi;ksx crkb,A 

Hkkxµ[k 

uksV % bl Hkkx ls fdUgha pkj iz'uksa ds mÙkj nhft,A 4×12=48 

5- xSj&laHkkO;rk izfrp;u ls D;k rkRi;Z gS \ xSj&laHkkO;rk 

uewukdj.k dh fof/k;ksa dk o.kZu dhft,A 

6- nks uewuksa ds chp varj ds fy, ifjdYiuk ds ijh{k.k dk 

o.kZu dhft, tc % 

(d) tula[;k fHkUurk Kkr ugha gSA 

([k) tula[;k fHkUurk Kkr ugha gSA 

7- ,d jSf[kd fu;rkRed Qyu dk o.kZu dhft,A lekJ;.k 

xq.kkad ds vkdyu ds fy, U;wure oxZ dh fof/k dks 

le>kb,A 
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8- dky&Js.kh esa O;kid :i ls mi;ksx fd, tkus okys  

ekWMy dkSu&ls gSa \ py vkSlr fof/k ls vki D;k  

le>rs gSa \ py vkSlr fof/k ds vuqiz;ksx dk o.kZu 

dhft,A 

9- f}in caVu dh egRoiw.kZ fo'ks"krk,¡ crkb,A blds ek/; 

vkSj fopj.k dks ifjHkkf"kr dhft,A 

10- (d) laiw.kZ ?kVukvksa vkSj fof'k"V ?kVukvksa ds chp varj 

dhft,A lHkh fof'k"V ?kVuk,¡  lEiw.kZ gSaA fVIi.kh 

dhft, ,oa mnkgj.k lfgr n'kkZb,A 

([k) eku yhft, fd ,d iklk Qsadk tkrk gSA  

5 ls de ;k fo"ke la[;k izkIr gksus dh izkf;drk 

D;k gS \ 

11- LrjhÏr ;kn`fPNd izfrp;u dks le>kb,A LrjhÏr 

izfrp;u ds Qk;ns vkSj uqdlku D;k gSa \ 
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Hkkxµx 

12- fuEufyf[kr eas ls fdUgha nks ij laf{kIr fVIif.k;k¡ fyf[k, % 

2×6=12 

(d) thou rkfydk,¡ 

([k) xqPN izfrp;u (Cluster Sampling) 

(x) uewukdj.k =qfV (Sampling Error) 

(?k) fo'okL; varjky 

× × × × × 

 

 

 

 

 

 

 

 

 

 


